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Go to “A Linux TCP implementation for NS2” http://netlab.caltech.edu/projects/ns2tcplinux/ns2linux/, 2.
Basic Behaviors, and you will find fourteen graphs of TCP congestion window (cwnd) behaviors (horizontal
axis is time, and vertical axis is cwnd). Classify these TCPs into (1) loss-based, (2) delay-based, and (3)

hybrid. And, summarize characteristics of these congestion controls.
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Try packet capturing of several YouTube contents by using Wireshark (https://www.wireshark.org/),
observe TCP usage in YouTube by using “TCP stream Graph” functions in “Statistics” in Wireshark, and

report your considerations.
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